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Fourth Semester B.E. Degree Exa
Mechanieal Measu

Note: Answer any FIVE futl questioltiii'i;Aoring ONE falt quesffiom efieh mad&le.

4*Mh# ;;ffi
.,**e.;fu.1$Mo-&Ig:1. "ut}

a. Define metrology. Enumerat6.affi seven objectives of metrp{ogy. (08 Marks)
b. With a neat sketch, explaffit imperial standard yard,,**, (06 Marks)
c. A calibrated meter enffi1ffi an actual length off,ffi)OO3 mm which is used to calibrate

two bare A and B havffifuSasic length of 500 mm.Yffien compared with the standard meter
bar it was found to be shorter by 0.0002 mm*corcfparing the two bars, Bar A is found to be
0.0004 mm longfutffifl Bar B. Find the actq&gths ofbar A and B (upto 5 decimal place).,.

r , s-"d@ F (06 Mar*s)

';1"'t 'l::::':'t '" t' OR
2 a. With nbat':Bketch, explain how sine bar is nsed to chec.kr.the unknovm angles of small

compbhents. ,,..,:,,,, .,r.,r,,,lr"' (07 Marks)
b. Build the slip gauge for the following dimensions usrng.Ml l2 slip gauge"opt :

(t) 47 .3165 (11) 73.892 , *ry:.,, (05 Marks)
c. With neat sketch, explain thewringing phenomena of slip gauges. u*uoj'" (08 Marks)

T" ,,\a-*; dr 
e/

3 a. Define Fit. Explai{r$o;. q,p., offi* sketches.@ (r0Marks)
b. Explain Interchaffibility and selectiffiwmbly. e%i' (06Marks)
c. Enumerate the@sification ofplalffises. ,* (04Marks)

d' -jr.,r 
,@OR-=:::++::i:::!. . ;ita+. = ri.-& i'4 a. Explai+i StilExpneumatic gaugqsfth aneatsketch.$** (loMarks)

b. Expldti"frith a neat sketchffi$ultra optime[y. Enumerate its advantages. (r0]rarks)

Module-3
5 al',,, rive an expressioh fur the effective diamiter of screw thread using trro wire msthod.

b. With a neat sfficfl eiplain the follg*jAg gear tooth terminology:
(i) Pitchgirq|@iameter --**v
(ii) Tooth*&*pkness
(iii) Circularlirch ,i* d

(i") Working depth 
^wry@(v) Module (l0Marks)
*'::'

., ":"" OR
6 a. With a schematie,rditigram, explain CMM. (10 Marks)

b. Explain the Chsrdal thickneis method using gear tooth vemeir. (10 Marks)
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Module-4 d% YF

1 a, With block diagram, explain the generalised measg[rgd$tem. (07 Marks)

b. Explain the following: (i) Accuracy (ii) Precisigffiifl Hystersis (06 Marks)

c. Define enor. Explain the classification of error,ffiffi. (07 Marks)

/*E**# 
* 

*':*
I a. Explain the piezo electric transducer *,,ffi*."n. W.,* (10 Marks)

b. Explain the light beam oscillograph"@,.n""t sketch. ,1 '..i1 (10 Marks)

;
,.lVlOOUle-5 ,"".. 1

9 a. Explain prony brake with sc{qt#diagram. ." (10 Marks)

b. \Mith a neat sketch, explain MS$&d gauge. .q (10 Marks)
ffie fl -*\

*qt;Y oR Mvffi"P oR ffi*
l0 a. With a basic circuik"&ffi thermocouple. Exphiffitwo laws ofthermocouple.

W & w (t0Marks)

b. With a neat skeftplain optical pyromffi (10 Marks)
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